\begin{proof}
Base case $n=18.
Ws142=\frac{1(2\times1-1)(2\times1+1){3}.5
\\Suppose the theorem holds when $n=kS.
WE142+32+52+\cdots+(2k-1)"2=\frac{k(2k-1)(2k+1)}{3}.5
\\Let Sn=k+18.
W5142+32+52+\cdots+(2k-1)"2+(2k+1)"2=\frac{k(2k-1)(2k+1){3}+(2k+1)*2.5
Ws=\frac{(2k+1)[k(2k-1)+3*(2k+1)]{3}.%
Ws=\frac{(2k+1)(2k"2-k+6k+3) {3}.5
Ws=\frac{(2k+1)(k+1)(2k+3)}{3}.5
WE=\frac{(k+1)[2(k+1)-1][2(k+1)+1]{3).%
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Proof. Base case n = 1.

12 = M

Suppose the theorem holds when n = k.
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Let n =Fk+ 1.
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By the prmaple of mathematlcal induction, the theorem holds for all n € N.



